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10><10><3.14><2+2><10><3.14><|:|= 1193.2
628 +62.8 x| |=1193.2

62.8 x| |=565.2
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® 100.48cm? @ 105.76cm? ® 116.28cm?
@125.6cm3 ® 150.76cm?

o] Zol)=12.56 + 3.14 + 2 = 2(cm)
159 F1])=2x2x3.14 X 10 = 125.6(cm?)
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= 97159 2ole B em® dY71?
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® 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88 cm?

(U] =)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(U] 2] 5)= 12.56 + 3.14 + 2 = 2(cm)
(

=
X2X3.14%x2+12.56%5
5.12 + 62.8 = 87.92( cm?)
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@4019.2cm3 ® 31l4cm?®
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A71529] %olE [ |em 2t 514

8Xx8x3.14 X2+ 16 x 3.14 x| _| = 1406.72

401.92 +50.24 x| | = 1406.72

50.24 x| |=1004.8

|:| = 20(cm)

(P7159] H1]) =8x8x3.14x20
= 4019.2(cm®)
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@D 6x6x3.14x6 =678.24(cm?)
@ 4x4x3.14x 15 = 753.6( cm?)
@ TxTxT7=2343(cm?)

@ 3 2429 FolE [ Jem 2} 5t

[ Ix[ Jx6=216,] |x[ ]=36,] ]=6(cm)

whatA BuE 6 x 6x 6 = 216(cm?) GU T

® Y] §gtz] 0] 15.7+ 3.14 + 2 = 2.5(cm)

o|B g Hul:25x25x3.14%x 6 = 117.75(cm?) YU o}




